GARDEN TRELLIS SCARF

Written by Tiffany Newton of TiaLynn Design.

Chart is coming soon.

Start:

Yarn: | used 100 grams of Stylecraft
special DK and an H (5mm) hook, but
any weight of yarn with an appropriate
size hook will do. | think this pattern
does lend itself well to lighter weight
yarns.

Gauge: Not important, but my scarf was
8 inches wide. Two rows and 5 DC
were 1.25 inches high. (just over 3cm)

Stitches used: American Terms!

Single Crochet (sc)

Double Crochet (dc)

Chain (ch)

DC3TOG: Yarn over, insertinto
chain space, Yo and draw yarn
through st. Yarn over and draw through
two loops on hook. (Repeat 3 times)
Then Yo once more and draw through
all 4 sts on hook.

Picot: Chain 3, slip stitch into the
top of the stitch before the first ch. (Or
you may slip into the first chain)

Notes: Beginning chains do not count
as a stitch.



Chain a multiple of 14 + 9. (I did 399 but if you have a larger hook, you may want to do less. It
depends on how long you want your scarf!). | didn’t count them all, just count 1-14 until the
chain is as long as you want your scarf, then add 9 more. | usually add a few more to long
chains just to make sure. You can take them out if you made your beginning slip knot loose
when you get to the other side. Also, the beginning chain will shrink quite a bit. So make it a bit
longer than you think - mine shrank by about 12 inches

Row 1:
. DC in 3™ ch from hook

DC in the next 4 stitches.

*CH 4, Sk 4, 1 DC in next 3 stitches*
Repeat from * until there are 2 stitches left.
2 DC.

Row 1 Picture

Row 2 (You will not work in any chain spaces this row)
Turn. Ch2 (or Ch2 then turn, whichever you prefer)
5DC
*CH 2. (DC ch4 DC) in the middle dc of the next dc group. Ch2. DC 3*
Repeat from * until 2 stitches remain.
2DC.

Row 2 Picture

Row 3 Red text is notes to help you with placement



Row

Row

Turn. Ch1.
2 SC, Ch4
*sc in next chain space from row 3 (the ch 2 space).
Ch2, (dc3tog, ch 3) three times in next chain space (the ch 4 space).
2 sc in next chain space(ch 2 space), ch 4*
Repeat from * until 2 stitches remain
2 sc.
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4

Turn. Ch1.

Sc, ch1.

*(Dc, ch4, dc) in chain space,

Ch2, sc in chain space between 1% and 2™ dc3tog.
Ch 3. Sc in next chain space.

Ch 2. Skip chain space*

Repeat until end, omitting 1 chain.

Scin last stitch.
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5.



Turn. Ch1.

Sc.Ch 1

* (dc3tog, ch3) four times in chain4 space

Skip chain2 space, sc in next chain space (the middle ch2 space).
Ch 3, skip chain2 space*

Repeat from * until end of row, omitting 2 of the 3 chains.

Scin last sc.

row 5 picture

Row 6. (In this row, you will be doing picots. If you do not like picots, you may replace each one
with a ch 2 or 3.)
Turn. Ch 1.
Scin sc. 2 scin first chain space. (3 sc so far)
*(2 sc, picot, 2 sc) in next chain space 3 times. These should fall between the
3dctog from row 6
2 sc in each of the next 2 chain spaces. * Repeat from * until end, ending with 2sc
in last chain space and 1 sc in last sc.

row 6

Pull up a loop and put a stitch marker in it so it won’t come undone.. Cut a long
tail, h. You will use this after you do the second side of the scarf.



Side 2

Turn scarf over, so you're starting on the opposite end where you just ended. Join
yarn with a standing DC in first stitch or with a slip stitch and ch2. Repeat rows 2-6 then
continue to the edging. (Optional: to make the scarf wider (even as wide as a shawl)
you can join with a standing DC in the first stitch and repeat row 1 as many times as you
like - in my photos, | did row 1 only once)

Edging
At the end of side 2, rotate the scarf and work sc evenly across the end. | fit 12
stitches across. Slip stitch to the first sc in row 6. Fasten off and weave in tail.

Pick up the loop left from the end of side 1 and repeat. Fasten off and weave in all
ends.

Block the picots for the best definition.



